

Mit Gein-Diffrent

9.7.02 (1)

$$\partial \ln\left(\frac{P_0}{P_1}\right) = g \varepsilon (P_0 - P_1) + \Delta g \quad (1)$$

$$P_{0,1} = \frac{P_s}{2} (1 \pm x)$$

$$\partial \ln \frac{1+x}{1-x} = g \varepsilon P_s x + \Delta g$$

$$z \rightarrow \alpha z P_s / P_\varepsilon$$

$$\delta = \Delta g L$$

$\partial \ln \frac{1+x}{1-x} = x + \delta$	$\delta = \frac{\Delta g P_\varepsilon}{\alpha P_s}$
---	--

$$L.S = \partial L_{1+x} - \partial L_{1-x}$$

$$= \left(\frac{1}{1+x} + \frac{1}{1-x} \right) \partial x = \frac{2}{1-x^2} \partial x$$

$$\Rightarrow \int \frac{dx}{(1+x)(\delta+x)} + \int \frac{dx}{(1-x)(\delta+x)}$$

$$\text{NR: } \frac{1}{(1 \pm x)(\delta+x)} = \frac{a}{1 \pm x} + \frac{b}{\delta+x}$$

$$= \frac{a\delta + ax + b\delta + bx}{(1 \pm x)(\delta+x)} \Rightarrow \begin{cases} a\delta + b = 1 \\ a \pm b = 0 \end{cases}$$

$$\Rightarrow a(\delta \mp 1) = 1$$

$$a = \mp b = \frac{1}{\delta \mp 1}$$

$$\rightarrow \int \frac{dx}{(\delta-1)(1+x)} + \frac{dx}{(1-\delta)(\delta+x)} + \frac{dx}{(1+\delta)(1-x)} + \frac{dx}{(1+\delta)(\delta+x)}$$

$$= \frac{1}{\delta-1} \ln(1+x) + \frac{\ln|\delta+x|}{1-\delta} - \frac{\ln(1-x)}{1+\delta} + \frac{\ln|\delta+x|}{1+\delta}$$

$$\zeta = \frac{1}{1-\delta} \ln\left(\frac{|\delta+x|}{1+x}\right) + \frac{1}{1+\delta} \ln\left(\frac{|\delta+x|}{1-x}\right) + C \quad 1.7102 \text{ (2)}$$

Probe: $\zeta' = \frac{1}{1-\delta} \left(\frac{1}{\delta+x} - \frac{1}{1+x} \right) + \frac{1}{1+\delta} \left(\frac{1}{\delta+x} + \frac{1}{1-x} \right)$

$$= \frac{(1-\delta)}{(1-\delta)(\delta+x)(1+x)} + \frac{(1+\delta)}{(1+\delta)(\delta+x)(1-x)}$$

$$= \frac{1}{\delta+x} \left(\frac{1}{1+x} + \frac{1}{1-x} \right) = \frac{2}{(1-x^2)(\delta+x)} \quad \checkmark$$

$$\zeta + \eta(x_0) = \dots$$

$$= \frac{2 \operatorname{sgn}(\delta+x)}{1-\delta^2} \ln|\delta+x| - \frac{(1+\delta)\ln(+)+ (1-\delta)\ln(-)}{1-\delta^2}$$

$$= \frac{2 \operatorname{sgn}(\delta+x) \ln|\delta+x|}{1-\delta^2} - \frac{\ln(1-x^2) + \delta \ln\left(\frac{1+x}{1-x}\right)}{1-\delta^2}$$

~~$x = \frac{y + \frac{1}{y}}{2}$~~ $y = \frac{1}{x-x_{\max}} + \frac{1}{x-x_{\min}}$

$$= \frac{2x - (x_{\min} + x_{\max})}{x^2 - x(+)+ x-x_+}$$

$$y(x^2 - (+)x + x-x_+) = 2x - (+)$$

$$x^2 - 2\left(\frac{1}{y} + \bar{x}\right)x - (x-x_+ - \frac{2x}{y}) = 0$$